-3.1.1 -3.1.2

h i it

KT o
Tk A SRR
L

-3.1.1 1)
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3.2

-3.1.2

-3.2.1
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1)

-3.2.1



-3.2.1

1)

2)
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3.3

3.4

-3.4.1

GIS
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Lty i &

i

-3.4.1

3.5

GIS GIS
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3.6

( ) (BOX

<A

-3.6.1

COD N P

COD N P Chla
COD T-N TP
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3.6.1

(1)
1) 3)
a)
- 3.6.1.1

TRANEI
L
TRORBEREBAI-S

Eﬁﬁﬁ(miﬁ%%{:)

TIEKS E (RARE)

RIS LI

KD EHRENE (frs) &
BADEMTRENKE
(HTFKETFTILA)

-3.6.1.1

b)

ot+at)=0(t)+ [ " gt - [ Ert)ot - [ Fs(tt

gt t (mm/hr)
Et@) (mm/hr) Fs(@) (mm/hr)

27



) (g®)

Horton

4)

Horton
Horton
Horton
Horton
ft)=f, +(f,. — . )exp(-axt)
) (mm/hr)  fnax (mm/hr) £, (mm/hr)

a ¢t (Horton ) (hr)

ft+at)=f, +(f(t)-f,)exp(-axat)

(Horton )

28



0
(mm)
8 max bF-- - - - - - - —-—--—=-—-——-= SIMmax
I
tmax’ t’(hI‘)
-3.6.1.2 6 t
t] 0 7

g(t,)=H(6,)=f(t')

t:’

t' , .
0, =]ttt
L, 0,

a(t,)=H(6,)=f(t,)

to’
0, =6, +£z min{Ra(t),g(t)dt = J': f(t)dt =0, + J:z (e )
Ra (= rr Et rr )

fltt2’ N=g(t2)

f(tzl): f(tll+t2'_t1'): f. +(f (tll)_ f, )exp(— a(tz'_tll))

=1, +(a(t,)- 1, )exp(-a(t,'-t,"))

t1 g(t) tz t1 (At ) g(tz) to
t:’

29
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fmaX

N Ra )
Fmax Ra=rr— Et rr

t
Ra<0 Ra>0
DEE ) (03 & x
t] =ty % DIRFABEDEAL
-3.6.1.3 t1I' -t2 r
SMmaX SMIH&X
it ) Frmax

SM max = J'Otf [f, +(f,, —f, )exp(-at)dt

L ket

tes’ f:fs ﬁ”s
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)

(ED

E»=0.533xDox(10¢ J )2

a = 0.000000675J3

0.0000771J2 + 0.01792J + 0.49293

31

> tJ' 1.514
J= 2"
N
Ep j (mm/
Do (12 7/ 1 ) ti )
-3.6.1.1 Do(12 / )
1 0.830 7 1.191
2( 0.900 8 1.123
2( ) 0.902 9 1.033
3 0.992 10 0.938
4 1.087 11 0.854
5 1.167 12 0.809
6 1.209

(

)



-3.6.1.2 E,(mm/ )
tj
E
( ) /5 1.514 p
12hr/day mm/day
1 0.830 3.6 0.61 0.18
2 0.900 4.2 0.77 0.25
3 0.992 7.3 1.77 0.63
4 1.087 12.7 4.10 1.60
5 1.167 17.2 6.49 2.72
6 1.209 20.3 8.34 3.63
7 1.191 23.8 10.61 4.55
8 1.123 25.7 11.92 4.82
9 1.033 22.2 9.55 3.55
10 0.938 16.7 6.21 2.09
11 0.854 11.0 3.30 1.01
12 0.809 6.0 1.32 0.38
J= 65.00
a= 1.52
E:(tmm/ )
E,(t)= ETR(t)x E,(t)
ETR®)
2
ETR(t)= PET|1-
1+ exp(— k x SW(t))
PET k Ey(t) (mm/ )
S W(t) SMmax (:6 (t)/ SMmax)
a7
=
I 51 B
0
SW =0(t)/SMmax
-3.6.1.4

32



(@)

Qs Qs
Q, =r, —g(t)-Et(t)- Fslt) Q<0 Q=0

Qs (mm/hr) rr (mm/hr)
g t Ett) (mm/hr)
Fst) (mm/hr)

(FY)

Fi(t)

{ gt) g gt)>g,.  Fst)=0
gt)  gr g(t)< gy Fslt)=f,
&Lts f;,
gfs
fo
Fs(t) g(t) gs foo
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c)

- 3.6.1.3
4)
5)
-3.6.1.3

(mm) (1/hr) (mm/hr)

Mimax a fo PET k
150 0.3 6 1.2 0.13
80 0.6 3 1 0.13
80 0.5 4 1 0.13
50 0.7 1 0.9 0.18
50 0.7 1 0.9 0.18
80 0.7 3 1 0.13
80 0.7 3 1 0.13
10 0.9 0.01 1 0.5

4
300mm/hr (1

34
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2)

a)
- 3.6.1.5
(
-3.6.1.5
oh 0%h 0%h
1 ( ) s T oo T le 9 -9 -Q -0,
2 ( ) q K, xD,xAx(h —h,)
oh o%h 0%h
3 ( ) S3 at3 T3X 6X23 sz ay23 ql _ Q2
T 1 ( K D)) S
Ts 3 ( Ksx Dy Sz 3
D] 1 ]11'
D2 2 q
D3 8 q]
K 1 gsp
K> 2 A
Ké’ 3 Q] (
Q2 (

35
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b)

0y =1, (h—h)xA/D

(m)

qsp ( ) (m3/s) hs (m) A 1

Ir (m/s) A (m?) D (m)

1

c)
- 3.6.1.5
-3.6.1.4
-3.6.1.4
m/s m/s
1 1.0E-05 1.0E-02 0.3
1 |2 1.0E-05 5.0E-03 0.3
3 1.0E-05 8.0E-03 0.3
4 1.0E-05 7.0E-05 0.3
5 1.0E-05 1.0E-02 0.3
1 1.0E-08
2 1.0E-08
3 1.0E-08
4 1.0E-08
5 1.0E-08
1 1.0E-05 0.01
2 2 1.0E-05 0.01

3 1.0E-05 0.01
4 1.0E-05 0.01
5 1.0E-05 0.01
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3)
a)

RERHE
HTKEBEHE
ALRFEEFKE

-3.6.1.6
ot ox oy oX p
y N O N+ LN =—gn N T
ot ox oy oy p
oh oM ©ON
—+—+—=r

ot ox oy °

M N x y

M uh N vh u v x y
H h

Ie

T xb T yb

2 2 2 1/3
z-xboryb:gn (uorV)Vu +V /h/

n

37




b)

)
d_Rit) A-a
dt A
zZ A R q
q
(%hIth) g=0.35-B-h/2gh
(%hl<h2) q=0.91-B-h2m

(KTET ) ROE - B
|
. 7
I = ( K ¢
! Bl | (0K [
|
I H L. ;
1 H \

-3.6.1.7
)
( ) (
+ ) ( )
(1.2 )
[ ]
[ L + + ¢
()« x
0
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c)

) n 0.060
0.047 0.050
-3.6.1.5
0.7 0.3 0.1 0.03 0.01 0.3 0.02
(
)
-3.6.1.6
No.

1 H m

2 H m

3 B m




4)
a)

1 kinematic-wave

Q A_
oX ot

R2/3| 1/2
n

Q= Ax

b)

40



(2
1)
a)

R, %, ac_a(D .5 @J a(D oC acj

V—=— +—= —+D, —
ot ox oy ox{ “ox Yoy) eyl Tox ¥
C u v Ra ( )
L]'n ( )
Lsp (:qstC)
Dy = ny: DyX: Dyy: D ( )
2
1
b)
( )
Rd _1+(1_n)ps kd
0
n ,05 9 kd

41
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6)

n
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2)

a)
Li : NLREEHAR & ALFRET IV
Lq : hRERAEATE HMERET N
Lsp : BKARE HTFARET L
Ci, j-1
- 3.6.1.8
8(Ci,J'Vi,i ) _
——=(L,+L)-(L,+L)+L +L,+L
ot -~
( )( )
Lj Lq Lsp
b)
)
Streeter-Phelps
C Cpe*t
C (mg/D) Co t to C k

42



c)

(g/s) (g/m3) x (m3/s)

L—kxS"x(Q- Q)"

S=5,—|L
L (gls) @ (m3/s) Q- (m3/s)
S (g) So k m n
- 3.6.1.9
Qe S
S
S
AS S
Smax
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&R

SHEH

=1
fain

0% % |ac|: BRAES

i HF it

<
E

fein

Ayialé

(rniﬁﬁ.‘i‘é 0

~

La : &mREN<

U J—zm [\

L : Bwass |

W0 HF oSS -

ZETOAHE
Py

L=l

537

SHY FQJ 2 >1=dDT.
ﬁﬁlﬁ\ SIEFEE LA,

e

%)
b Jendng

AL --

(CThP bz )

______________________________________

AS

AS

-3.6.1.9

i)

i1)

-3.6.1.10
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+
(@ = X (g)
(g)
(kg/ha) x (m2) x 1/10 j dt
(g/m3) = (g / (m3)
X ,, 7
/
- 3.6.1.10
iii)
( )
@ =( (kglhal ) x (m?) )x At j dt
(@ = (g) x
(g/m3) = (@) / (m3)
ik

—.

N

-3.6.1.11

45

(@)



3)

a)
« )
1
BKER
-3.6.1.12
ov C ov C .
+u =Li
ot OX
vV (Ax A(m3) C
(
b)
)
Streeter-Phelps
C Coe*t
C (mg/) Co t to
)
COD
TN

-3.6.1.7
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M, b DRAER

(mg/L)
)(g/s)

(mg/l) &k

u

(m/s) Li

+k

T-P



-3.6.1.7

k
A B+C+D B C D
COD 1.4 1.0 0.4 n
T-N 0.1 0.1 0.0
T-P 0.1 0.1
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4)

a)
-3.6.1.8
-3.6.1.8
2500(
2500(
)
HP
(10m 10m
) 3
( ) 1/10
1/10 100m
*
( Kk
)
( )
(
*
*%
b)

(1
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c)
b)

d)

1,0001)

COD

TN TP

mg/1

(COD TN TP
g/m3(1mg/1
g/, kgl

x COD
X COD

)
1g/m3)
4 (1g/

49

86.4kg/

COD

1/
31.536t/ )

m3 (1 m3



X
)
- 3.6.1.9
4 1996 2000 2001
2003 2000
X
)
-3.6.1.9 8 9
1D
v cop v o/
1D| 1D| 1D mg/L mg/L mg/L
1 1 6.4 8.17 0.16 348 4
2 7 5.2 6.28 0.08 292 4
3 3 6.2 3.87 0.6 199 4
4 2 5.9 3.78 1.06 138 4
5 6.4 22.2 2.43 H12
6 9.3 12.9 1.1 H14
7 28 90.3 1.64 H12
8 10.5 14.9 0.18 244 H12
9 15104 7.4 2.1 0.96
10 13579 7.4 2.1 0.96
11 14987 7.4 2.1 0.96 H14
12 6942 12.3 13.2 0.5 H14
13 801000 7.2 1.6 0.04 8
14
15 14042 4.2 7.44 0.087 3 4
16
17
18
19
20 12379 5.8 6.8 0.06 3 4
21
22
23
24 2503 7.2 1.6 0.04 8 4
25 4
26
27 7097 2.4 1.32 0.43 46 4
28
29
30

1 4
2 No.9 10 No.11
3 No.5 12 No.1 4
4 No.13 No.24
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3.6.2

(1)
1)

H-V ( )

eI

@I

Xﬂiﬁﬁﬁﬁ

-3.6.2.1 7

51

-3.6.2.1

COD



2)

-3.6.2.1
-3.6.2.1
( )
BOX
BOX
(BOX7
(COD ) coD
(COD ) (Inorg-N,Org-N)
(COD ) (Inorg-P,Org-P)
3)
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(2)

( )
( ) - 3.6.2.2
ETILTEEL-EEHE

v T 0 3 [ A ] T / [ ]
= N i i ! ’
= . <'/ i ﬁ $ '
Ll mE ) @ISk : i . '
[ A % S b ]
BT A i, @ TS kO ' '
miaR N\ R
Ca) [ m-fsw INCZE T :
x | Ei—— by ooy THRUIR Ao RUTER ) ¢ '

B | (hf> ; U e
g' (Po, P ) " R | - '
— 438 '
£, e 7 #)
) o) A
el i i "
o I R T ; ;
) X ®»EC l":

S —
\ Vbt ik g
Boos | V romi-mm
LY . B ¥ ' :
. i ' )
S ee- - oo oo o e I , JP
Riz 1
BEIR I mpian ) B ST ’
EE  ~—_ - AWk SEL - Pl

-3.6.2.2
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(3
1)

( ) -3.6.2.2
-3.6.2.2
mgChl.a/L Ml
mgChl.a/L M2
mgC/L Z
mgC/L D
mgN/L IN
mgN/L ON
mgN/L 1P
mgN/L (0]
COD COD mgCOD/L COD
2)
-3.6.2.3
-3.6.2.3
1 2
Chl.a mgChl.a/L | M1+M2 a
Chl.a( ) | mgChl.a/L | M1 ( /mL)
Chl.a( ) | mgChla/L | M2 (
mgC/L
mgC/L D
mgN/L IN NO;s-N + NO,-N + NH4-N
ON+ P N+ P
N/L
e N+ N
IN+ ON+ P N+ P
L
mgN/ N+ N
mgP/L 1P (PO4-P)
-+ + -+
mgP/L OP P PP P P
IP+ OP+ P P+ P
P/L
mgp/ P+ p
COD COD | mgCOD/L | COD COD
P COD+ P
COD | mgCOD/L COD+ COD COD COD
COD+ P COD+ P
COD mgCOD/L COD+ COD COD
)1 - 3.6.2.2
2
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4)
1)

( -3.6.2.2

d DA
a(vici):‘]incin _‘]outci +Z | : (C] _Ci)+Lin _Lout +Ri

\ I . ) )L

Ci
Jin
Cin
Jout

Ajj
Ly

Lin (
Lout (
Ri (

L]
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2)

a)

b)

c)

d)

e)

f)

g)

h)

i)

Ri
(IN)
Riv —ynm Ru—ynm Rigtywnwm Reitynm Reotynz Rezt+ Ran+ Hen
(IP)

R —ypm Rui—ypm Ristypm Reityem Reotypiz Rz + Rap+t Rep
(M1)
R (1—g1) Riu—Ro—Rs1—Rs1 —Riz

(M2)
Ruz (1 &) Rz R Rs2 Rs2 Rz
(ON)
Fov ynm a1 Rutynm & Rigtynm Fsitynm Rt yno Rip—Ran—Hsn
(OP)

For yrm &1 Rutyem & Ristypm Rsitypm Rset+ypp Fip —Rip—Rsp
COD(COD)
Fcop yem e1 Rutyem e Ristyom Rsi+tyom Rset+ycen Rip—Rac—Rsct Rec
(Z)
Rz yuzm O Riz Rz Rz
(D)
Bp yom (Bai+Rs2)+yom (1 0) Ruz+y o Rsz Rio Rsp

Rix [g/m?/day]
Rox [g/m3/day]
Rsx [g/m?/day]
X 1 2 7 D
Rix [g/m3/day]
Rsx [g/m?/day]
X 1 2 D N
Resx [g/m3/day]
X N P C COD
£x [ ]
X 1 2
o)
V Xy [ ]
XY M a N P Z
D
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3)

a)

b)

c)

L

Rix  Rex

Rix

H max

1P IN
ket+IP  kntIN

e

£

T
£ {FPT]_ exp(1

B

u

A NN R ™S

Rz

Ce

b
(g (M+Mo)+ w) h [expt Iopr

exp(

max

Ce

Cem

Ce

Cem

King

[
Ry

L5
Ry,

Rox
ky;
koz

ks;
ks

T
Topr;

o (M+Me))

fi fiy B M

)ié

[1/day]
[g/m3] An

[
[ ]

1 #

[1/m (g COD/m3)] w

[m]

[ 1 Toper
[m3/g]

Z (Mh+DMs
Kong

[MJ/m2/day] Jopr
[ ]

T

Ko +*(M+Me) 20

20

02T A (G 1
T Z

Rsx
6 3m20 MG 1
7z T Z

[m3/g
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&

1

7
exp( (g (Ma+MB)+w) B} exp( 57— )]

lopr

[1/m]

[-]

[MJ/m2/day]



d)

e)

f)

4)

a)

b)

c)

d)

Rux
Rix kix 64x™20 X (X

kox  ksx  kux
fx 6H3x 06ax

Rsx

|24

Rsx T X X

VX [m/day]

Fex

Rex kex Oex™20 A4 (X

kex

A V an Qout+Q Q

AV
Ghn
&

[g/m?/day] @ sx

Qout
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COD

[1/dayl]

[

]

COD

COD)

H-V

BOX



3.6.3

(1)
1)

A.H.V(V=Hx A)

Vout

2)

Vout = (RE—lAt)X A
A

hi < H
Vo =0

59

m3/hr

m?2



(2
1)

R mm/hr

2)

R=Vpox A

R>FR

Re=R R’

R<RK’
Re=0 R =R
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(3
1)

CV=CV-CinQ+Cout-Q
Qin = Qout = Q m?3/

Cz'n(=0)

2)
Sherwood C. Reed et al.1®
COD
Cot = Cinx exp (- 0.678 x1.06 x HRT )
T-N
Cou = Cinx exp(— 0.376x1.15x HRT)
T-P
Cout = Cin X EXp ﬂ
HLR
HRT = AxH xn
HLR= 100><9 cm/
A
COD BOD
T-N

61



4)
1)

2)

62




(5)

1)
IDNe
Q m?3/s
CcoD
TN mg/L
TP
2)
+ \\\\\\\\\\\\\\\\\\\\\\\\\\\\
:
X X
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(6)

1)
a)

MmETRMTEHE =N

BIAT v 2OF lux

SHEEM A v a

EIEE

-~
mﬁ___'/

b)

64



2)

a)
Cm
{L)”J
| gAY Ay sl TCw ] Cous
AN GETET -7 Ou
""l--._——l-"'-.
b)
c (G- ix SMN+Ci - 1x SNNT+Civ1,j x SMN2 + Ci j +1x SNN2)x AX
(SMNT+ SMN2 + SNNT+ SNN2)x AX
Cout = Cinx Qin X (1 - E)
SMN1 SMN2 SNN1 SNN2 ( m2/s) AX
Cij (mg/L
E \Y m/s
\Y A m?
[ Qin J h m
Axh
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3.7

3.7.1
(1)
-3.7.1.1
Ea siphet — sipher
e —— exe
-] input ————— input
D intermediate intermediate
-~ restart ———  restart
=0 result —————  pegult
-2 Mevap
S Olevap 12rivd
D 03erwg
-] Dderwc
D 05zreq evap
-] Dbzrec orw
-7 07 fwed srg
-] D8ty sfw
-7 D% v
-] 10rivg
- 1rive h
-] 12rivd d
-3.7.1.1
(2)
PC
Windows PC(Windous2000
Microsoft Excel(Excel2000
PC Windows

66



(3)

-3.7.1.2 input
START DOS “gosipher”
“ gosipher”
v “ 01_Control.csv” -3or-4
i or -6
Restart RESTFL0000000000.FIL
v
RESTFL0000000000.FIL
“ 01_Control.csv”
_________________________ “gosipher”
v ;
]
]
i
¢ E Restart
]
Restart
» “SUCCESSFULLY ENDED”
10LAKEINPUT.txt

67




3.7.2

(1)
1
input
xls
-3.7.2.1
-3.7.2.1
CSV
1 01 Control.csv
2 02 Grid.csv
3 03 LandUse.csv
4 04_Rain.csv
5 05_Evapo.csv
6-1 06-1 GroundWater.csv
6-2 06-2_GW-Boundary.csv
6-3 06-3 GW-Pump.csv
6-4 06-4 GW-aquiclude.csv
7 07 SurfaceRunoff.csv
8 08 River.csv
8-2 2 08-2_RiverBasic.csv
9 09 PuddyField.csv
10 10_NonpointLoad.csv
11 11_GroundWaterQuality.csv
12 12_Purification.csv
13 13 WL.csv
14 14 percolation.csv
15 15 reservoir.csv
16 16 _LakelnputFile.csv
17 17 WaterBalance.csv
18 18 MaxxBalance.csv
19 19 marsh.csv
20
20 _GWenclose.csv
21 21_water-recycle.csv
2)

xls

68
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(2)

21
1) (02_Grid.csv)
ID XY -3.7.2.1 ID -3.7.2.2

X:100A4A w2, Y:50A vy aDiEE

5ol112(3]- TN 100

491[101[102(103]| - O L 200

48 1201|202

T 2
1 pootf = b «f- 4 - 5000)
12 3 == == 100
—X
-3.7.2.1 ID XY
-3.7.2.2 1D
D X Y
EL.m D D ID ID
1 1 139 99 64 4 45 12 1 0
2 2 139 99 64 4 45 12 1 0
3 3 139 99 74.51 4 45 12 1 0
4 4 139 99 67.29 4 45 18 1 0
B 5 139 99 66.81 4 45 18 ] 0
6 6 139 99 67 4 14 99 1 0
7 7 139 99 65.48 4 14 99 1 0
8 3 139 99 67 4 45 16 1 0
9 9 139 99 67 4 45 16 1 0
10 10 139 99 67 4 45 16 1 0
11 11 139 99 68 4 45 16 1 0
12 12 139 99 67.51 4 45 16 15 0
13 13 139 99 69.19 4 45 13 15 0
14 14 139 99 69 5 45 13 15 0
15 15 139 99 87.77 5 33 12 15 0
16 16 139 5[ 115.75 5 33 12 15 0
17 17 139 5 67.27 5 14 40 15 0
18 18 139 99 67.76 5 14 40 15 0
19 19 139 99 70 5 33 13 15 0
20 20 139 99 74.63 5 33 13 15 0
0 1
-1 99

69



2) (08 _River.csv 08-2_RiverBasic.csv)
08 River.csv 08-2 RiverBasic.csv 2
-3.7.2.2 -3.7.2.3

TaldEE

RS TRIC
HA > TESERD

1 716
2
3

TR\ \ai‘ﬂ

HAT L oy \Eﬂ )‘J/ll'}':—o)
HAA v 22 :ﬂ lg'% vaxklDANnNS

-3.7.2.2
-3.7.2.3
m 08 _River.csv
ID ID
EL.m m
1 10.000 2 1 0
2 9.000 2 1 0
3 8.000 3 1 0
4 7.000 3 1 0
5 6.000 4 1 0
6 12.000 2 1 0
7 10.000 2 1 0
8 9.000 3 1 0
9 8.000 3 1 0
10 6.000 4 1 4
11 4.000 4 1 0
12 2.000 5 1 0
13 1.000 5 1 0
m 08-2_RiverBasic.csv
T.P.m m m3/s
| [ [ 2| 0.001]
1 4 10
6 12 0

70




(3)

result

T T T e e

y03erwg
Cy0derwc
05sreq
y0Gsrec >
y07=fed

[ 08=fmg
09
—10rivg
1 rive
1 2rivd
RO EVATHT
SR O2GRIW TAT
WRO3SPR.TAT
SR04 FW.THT
SHOSRIV THT
SROGF LU THT
SROTRIVH TAT

ﬁmLHKEINF‘LIT.'I'}{T
ﬁHWHTEF{BHLHNOE.W
QWMHSSBHLHNGE.W

01 _Control.csv

- 3.7.2.3

result

———————————————————————————————————— 25

%EI'I EVAP2001 M O100.THT ¢

ﬁ M EVAP2001 010107, TT
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